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1. (4 Pts) Use the following expression to write a balanced chemical equation representing the reaction.
A[CH ] _ A[O,] _ A[H,0] _ A[CO, ]
At 2At 2At At

CHg/ + L0, —= L, 0 + Co,

2. (4 Pts) Answer each of the following for the general rate law: Rate = k[BrOs}[Br} [H‘L]2

a. What is the overall order? 2

b. What are the units of the rate constant? [\sz "}) [ j S0 %MN / }’ ‘LLI»’MC - /\A

rate = —

3. For for the reaction below.
2A+B;+C>A;B+BC
Initial Rate of
Trial Initial [A] Initial [B2] Initial {C] Formation of BC
1 020M 020M 020M 2.4x10°Mmin!
2 040M 030M 020M 9.6x10° Mmin®
3 020M 030M 020M 2.4x10%Mmin!
4 020M 040M 040M 4.8x10° Mmint

a.(12 Pts) Determine the rate-law expr&ssnon (rate law equatlon w1th orders)

Cincral ri law : o -, AL 70607 [CJ
wie Exp LE 3 for At o0 = 9 Exp’t Y= X= 2
) 0'1") Y X0 7 "1

S 1V 6)("31 ‘f‘z‘l"OV‘B Chowo ¢ & order f/z” @\7 ? =0
3 \ & .Ei ' 6
L&i”"j Cx‘qlf i ‘Qr & 5%2»«)! (0 ‘fo - L/Q X0 _ :> Q\-z:;l)' 2: .L

010 Q,t/}(/o‘
cotr= R [A) ' (C)

"~

b. (3 Pts) Determine the value of the rate constant and its umts
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4. (2 Pts) What is meant by the half-life of a reaction?
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